2005 2006 2007
3-
8 10 10
3 3 3
1 1 1
3-
110 120 120
1.3% 1.4% 1.5%
3-
25 30 35




2005

2006

2007




9,279,779 8,000,943 1,278,836

3,410,145 1,916,410 1,493,735

3: 3,410,145 1,916,410 1,493,735
3- 1,774,238 434,738 1,339,500
178,149 123,149 55,000

(2110-211B-120-201-01)

(2110-211B-120-202-01)

(2110-211B-120-202-03)

(2110-211B-120-203-03)

(2110-211B-120-301-07)

(2110-211B-120-301-08)

(2110-211B-120-307-04)

(2110-211B-220-206-00)

(2110-211B-420-310-01)

500,000 * 4
) 500,000 * 4
300,000 * 4

49,900 * 2 *3 *2

1,300,000 * 2

2,500,000 * 4 * 4

3,000,000 * 2 * 2

2,000,000 *3 * 4

50,000 * 15

2,000

2,000

1,200

5,000

599

2,600

40,000

7,000

12,000

24,000

60,000

750




)
LA * 11,000
. 5,000
. . 5,000
32,600 32,600 0
(2110-211B-120-201-01)
600
(2110-211B-120-202-03)
2,000,000 * 8 * 2 32,000
72,400 50,100 22,300
(2110-211B-120-201-02)
(=49,900)
15,000 * 300 4,500
40,000 * 100 * 4 16,000
400,000 * 4 *2 *2 6,400
10,000
@) 3,000
@) 5,000
5,000
(2110-211B-120-301-08)
( )
250,000 * 2 * 39 19,500
(2110-211B-120-301-10)
15,000 * 20 * 10 3,000
20,200 20,200 0
(2110-211B-120-301-08)
(=20,200)
800,000 * 1 * 12 9,600




800,000 * 1 * 12 = 9,600
500,000 * 2 = 1,000
36,597 44,997 8,400
(2110-211B-120-201-01)
7 = 5,000
(2110-211B-120-202-01)
49,900 * 3 *2 *6 = 1,797
(2110-211B-120-202-03)
7 ( )
2,500,000 * 6 = 15,000
1,400,000 * 2 = 2,800
2,000,000 * 3 = 6,000
1,000,000 * 6 = 6,000
92,000 92,000 0
(2110-211B-120-202-03)
2006. ' 2,000,000 * 40 = 80,000
(2110-211B-120-301-07)
2,000,000 * 3 *2 = 12,000
1,342,292 71,602 1,270,600
(2110-211B-120-201-01)
= 4,000
8,000 * 500 = 4,000
= 4,000
70,000 * 20 * 2 = 2,800
(2110-211B-120-202-01)
49,900 * 2 *3 *13 = 3,893
49,900 * 3 * 4 = 599




(2110-211B-120-203-03)

= 34,000
= 12,000
(2110-211B-220-206-00)
1,500 * 2,000 = 3,000
(2110-211B-220-207-01)
= 30,000
(2110-211B-220-306-00)
= 1,000,000
= 144,000
(2110-211B-220-307-05)
APEC = 100,000
3- 781,200 789,600 8,400
159,000 196,200 37,200
(2110-211B-120-201-01)
= 15,000
(2110-211B-120-202-03)
= 144,000
280,200 251,400 28,800
(2110-211B-120-201-01)
(=100, 800)
- 70,000 * 120 * 6 = 50,400
- 70,000 * 70 * 6 = 29,400
- 70,000 * 50 * 6 = 21,000
1,000,000 * 60 = 60,000
8,000,000 * 10 = 80,000
(=12,600)
- 700,000 * 6 = 4,200




- 700,000 * 6 = 4,200
- 700,000 * 6 = 4,200
(=6,800)
- 40,000 * 70 = 2,800
- 40,000 * 70 = 2,800
- 40,000 * 30 = 1,200
(2110-211B-120-202-03)
( 2,000,000 * 10 = 20,000
342,000 342,000 0
(2110-211B-120-202-03)
= 330,000
@ ) = 12,000
3- 854,707 692,072 162,635
303,197 183,262 119,935
(2110-211B-120-201-01)
1,000,000 * 2 = 2,000
40,000 * 50 = 2,000
20,000,000 * 1 = 20,000
200,000 * 5 *2 = 2,000
300,000 * 5 *2 = 3,000
70,000 * 5 *3 = 1,050
1,000,000 * 2 *1 = 2,000
(2110-211B-120-202-01)
49,900 * 2 *3 *8§ = 2,396
(2110-211B-120-202-03)
(1T&NE)




)
3,000,000 * 3 9,000
(1T&CNA)

2,500,000 * 3 7,500
(EIBTM) 3,000,000 * 3 9,000
(IME) 1,500,000 * 2 3,000
(AINE) 3,000,000 * 2 6,000
IMEX 3,000,000 * 2 6,000
V&IT) 3,000,000 * 2 6,000

(2110-211B-120-203-03)
4,000

(2110-211B-120-301-07)
3,000,000 * 2 * 3 18,000

(2110-211B-120-301-09)
46,550 * 1 * 12 559
40,000 * 1 * 12 480
88,000 * 1 * 12 1,056
156,000 * 1 156

(2110-211B-220-401-01)
130,000

(2110-211B-220-401-04)
20,000
10,000,000 *1  * 4 40,000

(2110-211B-420-310-01)
2,000,000 * 4 8,000

551,510 508,810 42,700
(2110-211B-120-201-01)
(=35,000)

- 5,000 * 3,000 15,000




- 4,000,000 * 5 = 20,000
3,000 * 1,000 *3 = 9,000
70,000 * 11 *3 = 2,310
(2110-211B-120-202-03)
(OVAI) 3,000,000 * 3 = 9,000
(1CCA) 3,000,000 * = 9,000
(AACVB) 1,500,000 * 2 = 3,000
(2110-211B-120-307-02)
= 450,000
(2110-211B-420-310-01)
= 15,000
= 6,000
(AACVB) = 3,000
(DVAI) = 3,000
1,200,000 *3 *2 = 7,200
642,989 674,401 31,412
(2110-211B-110-101-02)
(=141,504)
(=118,008)
- 3,847,000 * 2 * 12 = 92,328
- 2,140,000 * 1 * 12 = 25,680
(=23,496)
- 729,000 * 2 * 12 = 17,496
- 500,000 * 1 * 12 = 6,000
(=114,060)
D 2,708,000 * 2 * 12 = 64,992
2,044,500 * 2 * 12 = 49,068




)
(2110-211B-110-101-03)
( ) 130,000 * 5 * 12 = 7,800
(2110-211B-110-101-07)
( ) 198,992,000 * 58% * 10/249 = 4,636
(2110-211B-110-101-08)
( ) (=227,117)
(=198,992)
— " " (44,798,000 + 44,798,000 * 58% * 1.5%) * 1 = 45,188
— " " (39,034,000 + 39,034,000 * 58% * 1.5%) * 2 = 78,748
— " " (34,331,000 + 34,331,000 * 58% * 1.5%) * 2 = 69,260
- 193,196,000 * 3% = 5,796
(=22,725)
—on 8,826 * 48 *1 *12 *1.015= 5,161
o 7,690 * 48 *2 *12 *1.015= 8,992
o 6,764 * 48 *2 *12 *1.015= 7,910
- 22,063,000 * 3% = 662
(=5,400)
- 30,000 * 5 * 12 = 1,800
- : 20,000 * 15 * 12 = 3,600
(=17,902)
- (17,230,000 + 17,230,000 * 58% * 1.5%) * 1 = 17,380
17,380,000 * 3% = 522
(2110-211B-120-201-01)
= 1,000
= 40,650
23,000 * 20 = 460
40,000 * 12 = 480
40,000 * 12 = 480




40,000 * 12 = 480
= 1,400
500,000 * 4 = 2,000
300,000 * 3 = 900
= 2,000
= 26,400
(2110-211B-120-202-01)
10,000 * 10 * 26 * 12 = 31,200
(2110-211B-120-203-04)
300,000 * 12 = 3,600
(2110-211B-120-204-02)
(=14,520)
.o 400,000 * 1 * 12 = 4,800
.o 250,000 * 2 * 12 = 6,000
.o 155,000 * 2 * 12 = 3,720
(2110-211B-120-204-03)
( ) 50,000 * 4 * 12 = 2,400
(2110-211B-220-405-01)
1,000,000 * 2 = 2,000
5,226,645 5,410,132 183,487
(5110-5111-310-311-01)
(=56,648)
"99 = 14,324
"00 = 42,324
(5110-5111-310-311-04)
(=465,997)
"98 ) 1,200,000,000 * 3.88% * 1 = 46,560




-10-

)
99 ) 3,822,200,000 * 3.88% * 1 = 148,302
(00 ) 6,988,000,000 * 3.88% * 1 = 271,135
(5110-5111-310-601-01)
(=800,000)
*99 2,000,000,000 * 1/5 = 400,000
*00 2,000,000,000 * 1/5 = 400,000
(5110-5111-310-601-04)
(=3,904,000)
98 ) 3,000,000,000 * 1/5 = 600,000
99 ) 7,000,000,000 * 1/5 = 1,400,000
(00 ) 9,520,000,000 * 1/5 = 1,904,000




